MA/CSSE 474	Homework #9   70  points    Updated for summer 2013
Solutions should be written clearly, or typed and printed (preferably double-sided).
2.1 means Exercise 1 from Chapter 2.
Key:
	(No symbol) 	Not required to be turned in.  Just be sure that you can do it.
	(t -7) 	To be turned in and graded, worth 7 points.


1. 11.11
2. (t-6-6) 11.12b  Note that there are two things to show:  (a) Every string in Bal can be derived from the grammar (easiest to show something by induction on the length of the string, and then use that to show this property); (b) every string that can be derived from the grammar is in Bal (easiest to show something by induction on the length of the derivation and then use that to show this property). 
3. (t-6-6) 11.13a
4. (t-6) 11.14
5. 11.15 (if you are interested in compilers, you might want to try this one)
6. [bookmark: _GoBack](t-6-3=6) 11.17
7. 11.18
8. (t-6) 12.1b
9. (t-6) 12.1c
10. (t-6) 12.1d
11. 12.1j
12. (t-6-6-6) 12.3
Hints for 12:  (a) Have states and transitions to handle the "don't care" sections where we aren't worried about the number of b's.  (b) One nonterminal for when the mi>mj, and one for when mi<mj. (c) Pumping theorem alone probably won't do it; also use closure property.
13. (t-10) 12.5a
14. 12.6
